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PART 1 -
NTERNATIONAL
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For ages
Physical flows

From order information
and financial flows

Within the company
Supply chain
orldwide
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PART 1 -
INTERNATIONAL LOGISTICS SCOPE

Economy, demand and fluctuation
Depending on products
Population : age and culture
Freer frade or ... not
Competition throughout the world
The right .... what ¢22?
Quantity, fime, place, quality...
Market location is changing

Transportation and worldwide
communication make it possible

Sea way cheapest cost
Communication cost

And poles ....
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12,000 kms long




PART 1 -
INTERNATIONAL LOGISTICS SCOPE

Customers, what they expect

A fair price Quality
Quality looking for exceeding customg : Reliabily * Lead time
expectations -
k|
Delivery lead time S Quality
Better pre sale after sale service § Reliability e Price
flexibility
Order qualifiers Mok e
You need them Qualifiers Winners

Market Requirements

and order winners
You select them
Depending on
Life cycle
country



Supply chain Apple iPhone
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PART |

= Manufacturing
strategy

= Delivery lead time
= Engineer to order

» At the product
design stage

» Make to order

= Raw material is
available

» Assemble to order

= Parts are
available

» Make to stock

= From finished
goods
Inventory
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PART |

The supply chain concept
Raw materials, manufacturing, finished goods

Several companies within the supply / demand

relationship
Several suppliers as well as several customers
e 0 c e e SUpRY
A number of intermediaries «.
- P
From the past to toda sy
X y © G =
Internal management e e T P
s, & CConsumer

Suppliers as business adversaries

The supplier partnership within the Just in Time
management

Mutual analysis for cost reduction
Mutual product design
The speed of accurate information flow




PART |

» Conflicts in traditional systems
» Before separate functions
= Best customer service

» | owest production cost

® | owest inventory
investment

» | owest distribution costs

= Marketing

= Finance

= Production...

= Against Finance

= Driven to conflicts

= Connections with goals

= To balance conflicting
objectives

Producing

Business Functions

Reseaarch & INTE RNAL
Developmant
__;_/ Selling Supporting
Prodection & ) Sales [ Computing Buying/
Quality Purchasing
¥ H |
Distribetion/ Marketing [ HR/Pearsonnel Mansgamant k
Logistcs Accountancy
J . r ’
/ ‘ |
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Advertising ; Market Recreitment Charternd
Research l» Consultancy Accosntants
Public Massgement
Relations EXTERNAL Comsuttancy




Sum up ...

» \What are the three logistics flows

» Whatis logistics main goal

» \Whatis the main problem logistics has to solve




pply chain metrics
« A performance measure qualitative or quantitative,
« Control by superior
* Reporting of data
« Communication
* Lgarning fo ...
* Improve
Taday magjor challenges
stomers are never satisfied
supply chain might be easily large
A vast amount of data
Product life cycle is shorter and shorter
Profit margin are more squeezed
By the way an increasing number of alternatives




Designing the flow management
= Product design

= Use, maintenance, analysis,
plan, packaging

Setting the objectives

» Assessment of service level,

logistics categories
= Designing the information system

» Databases, software choice,
telecommunication, EDI,
odification

Design of physical system

= Network, inventory level,
transport alternatives

Designing the management
system

priority rules

Intensification of trade

mmeans
concentration

» Forecast, ressource allocation,
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Part [l - Competing with
Operations (materials
mMmanagement)




Operations
management deals
with processes

COMPETING o

Operations

W ‘T H accounting, finance,

human resources,

OPERATIONS it

information system,

[ J |< _I_. ,
Infroduction erations..
Inputs, adding value,
provide outputs

Cuts across boundaries



Process View of an Ad Agency
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Nested Processes

rtisement Design and Planning Pim

Figure\1.2



» Customer supplier relationships
» Fnd users and internal customers

» External suppliers and internal suppliers

» Service and manufacturing processes

» Services

» |ntangible perishable outputs

» Finished goods inventory




Degree of customer contact
High or low
Management in service
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Employment Growth: Services Versus Manufacturing As of July 2014

Adjusted for Workforce Population Growth
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Internal Value-Chain Linkages Showing
Work and Information Flows

I . |

Support processes

External suppliers
SJaWO0ISNI [eulalxy

« Added value : a core process
« A support process : provides vital resources



Support Processes




Types of OM Decisions

Q Strategic choices l '
O New Processes a \.
0, Quality = PN

Value Chains

perating Decisions

Q Process
Management

Project Management
Inventory
Scheduling

000
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Multi poles world

» World Trade Organization (WTO) An international
organization that promotes world trade by lowering barriers
to the free flow of goods across borders.

» North American Free Trade Agreement (NAFTA) A free
trade agreement between Canada, Mexico, and the
United States.

ropean Union (EU) A European frade group that has 27
ember states...

And now

» |ndicator of performance in service as well as in manufacturing



Sum up

» |[dentify differences between services an
manufacturing and what is their connection ¢

®» |dentify two main processes




Operations Management as
- a Function

* Accounting
e Distribution
Bank Manufacturin

_________________ g  Engineering
Construction .. _ Retailing
Govern ment . Transportatlon ® F l n a “ ce
© l'
Health care Wholesaling e Human

resources
e Marketing




Cost Reduction

Four global
frategies

(Quick Response andfor Differentiation)




financing type of aircraft is used

Competitive advantage application
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Productivity

The ratio of outputs (goods and
services) divided by one or more
inputs (such as labor, capital, or
manageme

Output

Productivity = Input

The operations manager’s job is to enhance
(improve) this ratio of outputs to inputs.
Improving productivity means improving
efficiency



Productivity

Policies processed
Employee hours

Labor productivity =




Productivity

600 policies

Labor productivity =

(3 employees)(40 hours/employee)




Productivity

Labor productivity = 5 policies/hour




Productivity

Labor productivity = 5 policies/hour

Multifactor productivity =

Quantity at standard cost
Labor cost + Materials cost + Overhead cost




Productivity

Labor productivity = 5 policies/hour

Multifactor productivity =

(400 units)($10/unit) $4000

$400 + $1000 + $300  ~ $1700 230




Productivity labor exercice

» Productivity can be measured in a variety of ways, such as
by labor, capital, energy, material usage, and so on.

» At Modern Lumber, Inc., Art Binley, president and producer
of apple crates sold fo growers, has been able, with his
cdrrent equipment, 1o groduce 240 crates per 100 logs. He

urrently purchases 100 logs per doy, and each log requires 3
abor-hours to process. He believes that he can hire a
professional buyer who can buy a better-quality log at the
same cost. If this is the case, he can increase his production to
260 8ro’res per 100 logs. His labor-hours will increase by 8 hours
per day.

= What will be the impact on productivity (measured in crates
per labor-hour) if the buyer is hired?



Productivity
Measures

1. Labor, which conftributes about 10% of
the annual increase.

2. Capital, which contributes about 38% of
the annual increase.

3. Management, which conftributes about
52% of the annual increase.



Productivity
and service

Productivity of the service sector has proven
difficult to improve because service-sector work
is...

Téoching).

2. Frequently focused on unique individuadl
attributes or desires (e.g., investment advice).

3. Often an intellectual task performed by
professionals (e.g., medical diagnosis).

4. Often difficult to mechanize and automate
(e.g., a haircut).

5. Often difficult to evaluate for quality (e.g.,
performance of a law firm).




And ....

= Arf Binley has decided to look at his productivity from
a multifactor (total factor productivity) perspective.

»To do so, he has determined his labor, capital,
energy, and material usage and decided to use dollars
as the common denominator.

is total labor-hours are now 300 per day and will
ihcrease to 308 per day. His capital and energy costs
will remain constant at $350 and $150 per day,
respectively. Material costs for the 100 logs per day are
$1,000 and will remain the same. Because he pays an
average of $10 per hour (with frlnges) Binley determines
his productivity increase as follows ..



Productivity

OM Explorer
Tutor 1.1—Productivity Measures

The state ferry service charges $18 per ticket plus a $3 surcharge to fund planned
equipment upgrades. It expects to sell 4,700 tickets during the eight-week summer
season. During that period, the ferry service will experience $110,000 in labor costs.
Materials required for each passage sold (tickets, a tourist-information sheet, and the
like) cost $1.30. Overhead during the period comes to $79,000.

a. What is the multifactor productivity ratio?

b. If ferry-support staff work an average of 310 person-hours per week for the 8 weeks
of the summer season, what is the labor productivity ratio? Calculate labor productivity
on an hourly basis.




Productivity

Tutor 1.1—Productivity Measures

Enter data in yellow areas. Use Tab to advance from one input cell to the next.
a. Multifactor productivity is the ratio of the value of output to the value of input.

Step 1. Enter the number of tickets sold during a season, the price per ticket, and the surcharge per
ticket. To compute value of output, multiply tickets sold by the sum of price and surcharge.

Step 2. Enter labor Is costs per passenger, and overhead cost. For value of input, add
together labor costs, materials costs times number of passengers, and overhead costs.

Labor costs: $110,000 Materials costs: $1.30 Overhead: $79,000
Valu

Tickets sold:
Price:
Surcharge:

Value of output:

Multifactor productivity:

Step 3. To calculate multifactor productivity, divide value of output by value of input. -




Productivity

Tutor 1.1—Productivity Measures

Enter data in yellow areas. Use Tab to advance from one input cell to the next.

b. Labor productivity is the ratio of the value of output to labor hours The value of output is computed
in part a, step 1.

Step 1. Enter person-hours per week and the number of weeks in the season; multiply the two
together to calculate labor hours of input.

Hours per week: _ Weeks: -
Labor hours of input:

Step 2. To calculate labor productivity, divide value of output by labor hours of input.

[ ]
Labor productivity: -




Productivity

Tutor 1.1—Productivity Measures

Place cell pointer on green shaded areas to examine formulas.

a. Multifactor productivity is the ratio of the value of output to the value of input.

Labor costs: $110,000 Materials costs: $1.30 Overhead:

Valu¢ of input:

Step 3. To calculate multifactor productivity, divide value of output by value of input.

Multifactor productivity:

Step 1. Enter the number of tickets sold during a season, the price per ticket, and the surcharge per
ticket. To compute value of output, multiply tickets sold by the sum of price and surcharge.

Tickets sold: 4,700 Value of output: $98,700

Price: $18

Surcharge: $3

Step 2. Enter labor dosts, materials costs per passenger, and overhead cost. For value of input, add

together labor costs, materials costs times number of passengers, and overhead costs.

$79,000

$195,110

0.51




Productivity

Tutor 1.1—Productivity Measures

Place cell pointer on green shaded areas to examine formulas.

b. Labor productivity is the ratio of the value of output to labor hours The value of output is computed
in part a, step 1.

Step 1. Enter person-hours per week and the number of weeks in the season; multiply the two
together to calculate labor hours of input.

Hours per week: 310 Weeks: 8
Labor hours of input: 2,480

Step 2. To calculate labor productivity, divide value of output by labor hours of input.

Labor productivity: $39.80

Figure\1.5¢
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rder Quantity

ply Chain Dynamics for Facial

Package supplier’'s
weekly orders to
9,000 cardboard supplier
' Manufacturer’'s

weekly orders to
package
Retailers’ supplier
daily orders to
manufacturer

Consumers’
daily demand

3,000

Time
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Transformation
process and WIP
storage

aterials Management

Purchasing
domain of
responsibility

4

Sugar Flour
supplier supplier

Chocolate Maintenance
chips services
supplier supplier



Production domain of
responsibility

Egg
supplier

Sugar
supplier

Transformation
process and
WIP storage

Flour
supplier

aterials Management

Purchasing
domain of
responsibility

Chocolate Maintenance
chips services
supplier supplier



aterials Management

Production domain of
responsibility

Egg
supplier

Sugar
supplier

Transformation
process and
WIP storage

Purchasing
domain of
responsibility

Chocolate Maintenance
chips services
supplier supplier

Flour
supplier



aterials Management

Supermarket A Supermarket B
distribution center distribution center

Distribution
domain of ‘ Transportation
responsibility services supplier

in of Transformation

bln taln 0 process and
~lotity WIP storage

Purchasing

domain of

responsibility
Chocolate Maintenance
Egg Sugar Flour f h
: . . chips services
supplier supplier supplier

supplier supplier



aterials Management

Supermarket A Supermarket B
distribution center distribution center

Distribution
domain of ‘

responsibility

Transportation
services supplier

Transformation
process and
WIP storage

Production domain of
responsibility

Purchasing
domain of
responsibility

Chocolate Maintenance
chips services
supplier supplier

Egg Sugar Flour
supplier supplier supplier




Operations Rocdmop to be developed ... later

ompeting Wlth Operatlo Outcomes

- _ ’L
Improving Proces Operatlng Value Chain
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Student tuition at Boehring University is $100 per semester credit hour. The state supplements
school revenue by matching student tuition dollar for dollar. Average class size for a typical
three-credit course is 5O students. Labor costs are $4,000 per class, materials costs are $20 per
student per class, and overhead costs are $25,000 per class.

a. What is the multifactor productivity ratio for this course process?

b. If instructors work an average of 14 hours per week for 16 weeks for each three-credit
class of 50 students, what is the labor productivity ratio?

Natalie Artired makes fashionable garments. Durigg5 ; particplar w:ite,l,c (ﬁghﬁr\;e:h:;o:::;i “3,6
1 % nds '
duce a batch of 132 garments, of whic were “seco at {
Ifql(z::jvr:dt)o g::)o:ds are sold for $90 each at Attired’s Factory Outlet Store. The ‘rf:n.\a'mmg ngg:hrk |
ments a.re sold to retail distribution, at $200 each. What is the labor productivity ratio

manufacturing process?



